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Problem 6: (40 pts.) A parallel plate capacitor is made from two circular plates of radius
0.050 m separated by 0.001 m. The voltage across the plates is given as a function of time
by

V (t) = V0 + V1
t

τ
,

where V0 = 30 Volts, V1 = 1000 Volts, and τ = 2 s.

a. (30 pts.) At a time of t = 5 s, what is the magnetic field strength inside the capacitor
at a distance of 0.030 m from the central axis?

b. (10 pts.) At that same time of t = 5 s, what is the magnetic field strength outside the
capacitor at a distance of 0.080 m from the central axis?
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